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Find the following products: (1-15)

Q 1.2a°3a + 5b)

SOLUTION:

To find the product, we will use distributive law as follows:
2a3 (3a+ 5b)

=2a% x 3a+2a% x 5b

=(@2x3)@® xa)+(2 x5’
=2x3)a>"+(2x5)a’y

=6a* +10a%b

Thus, the answer is 6a* +10a°b.

Q2.-11a(3a + 2b)

SOLUTION:

To find the product, we will use distributive law as follows:
-11a(3a +2b)

=(-1la) X 3a+(-11a) X 2b

=(-11 X 3) X (a X a)+(-11 X 2) X (a X b)

=(33)x @+ (22) % @@axb)

=-33a%—22ab

Thus, the answer is -33a — 22ab.

Q 3. -5a(7a - 2b)

SOLUTION:

To find the product, we will use distributive law as follows:
-5a(7a—2b)

= (-5a) X Ta +(-5a) * (-2b)

=(-5XT7) X (axa)+(-5%(-2)) X (axb)

=(35)% (@) +(10) x (a < b)

=-352”+ 10ab

Thus, the answer is 2352+ 10ab.

Q4.-11y*Gy +7)

SOLUTION:
To find the product, we will use distributive law as follows:
—11y*Gy +7)

=(-11y}) X 3y + (-11y*) x 7

= (11X 3)y? X y)+ (=11 X 7) X (v?)
=@BHYHHETD X ()

=—33y3-77y?

Thus, the answer is —33y°—77y2.



Q5. F( +y?)

SOLUTION:

To find the product, we will use distributive law as follows:
6 ~ 2
(7 +y?)

_ 6x 3 6X 3
=2X x =X x
B X-i-5 y

:%x(xxx3)+%x(xxy3)

S x (x4 £ x (xx )

6xy3
5

_ 6x!
==t
6xy3
3

.o6x!
Thus, the answer is = +

Q6. xy(x’—y?)

SOLUTION:

To find the product, we will use the distributive law in the following way:
xy(xX*=y?)

=xy><X3—Xy><y3

=(x X X)Xy =xx(yxy’)

—x!y Xy 143

=xty—xy*

Thus, the answer is X4y - xy4.

Q7. 0.1y(0.1x° + 0.1y)

SOLUTION:

To find the product, we will use distributive law as follows:
0.1y(0.1x° + 0.1y)

= (0.Iy) (0.1X>) + (0.1y)(0.ly)

=(0.1 X 0.1)(y X X°)+(0.1 X 0.1)(y X y)
=(0.1%x0.1)(X> Xy)+(0.1x0.1)( yth

=0.01x°y +0.01y?

Thus, the answer is 0.01Xy +0.01y>
Q8. (_T7ab2c— =a?c?) (—50a%b%c?)
SOLUTION:

To find the product, we will use distributive law as follows:

7 AK2 6 2202 2h202
(Tab c—gxa’c ) (—50a?b?c?)

{(‘4_7ab2c) (=50a%b%c?)} — { (5 a’c?) (~50a%b%c?)}

T (=50)) (ax @) (b x b?) x ( x &)}

_{(%)(—50) (a2 x a2) x b2 x (c2 x c2)}

= 1;—5a3 b*c’— (- 12a*b*c?)



= lzia%“c3 +12a*b?ct

Thus, the answer is $a3b4c3 + 12a*b2c*.

_8 30,2 923
Q9. —5=Xyz(5Xyz —IXyz )

SOLUTION:

To find the product, we will use distributive law as follows:
8 3 2 9,23
—35XYZ($XYyZ™= Xy~Z7)

= (—Lxy2) (3xyzd)) — (- Lxy2) (Sxy )

8 3 2
57 x 2 XXx)x (y xy) x (zx27)5
—l55 % PEXX) X (yxy2) x (2% 7))}
3 3 1+1, 1+1,, 142 8 9 1+l 142143
= {5 x HEy 2 {55 x P (x Ty 221}
=—%x2yzz3+%x2y3z4
Thus, the answer is —%Xzyzz3 + §X2y3z4

_4 9.2 302
Q 10. ﬁxyz(gx Y2 3XyZ )

SOLUTION:

To find the product, we will use distributive law as follows:
—%xyz(;xzyz— %xyzz)

= {302 (3¥y2)) — (-5 xy2) (33y2)

— {(_24_7 x %)(Xlﬂyl“zl“)}—{(—% x %) (X1+1y1+lzl+2)}
_ —%X3y222 + éx2y2Z3

Thus, the answer is —§X3y222 + %Xzyzz3
Q 11. 1.5x(10x%y—100xy?)

SOLUTION:

To find the product, we will use distributive law as follows:
1.5x(10x%y—100xy2)
= (1.5x x 10x2y)—(1.5x x 100xy?)
= (15x"2y) - (150x'1y?)

= 15x3y—150x2y2
Thus, the answer is 15x>y— 150x%y2.

Q12.4.1xy (1.1x—y)

SOLUTION:

To find the product, we will use distributive law as follows:



4.1xy (1.1x=y)

= (4.1xy x L.1x)—(4.1xy X y)
={(4.1x1.1) xxy xx} —(4.1xy X y)
= 4.51x"y) - (d.1xy ™)

=4.51x%y—4.1xy?
Thus, the answer is 4.5 1x2y—4.1xy?

y
Q13.250.5xy (xz + 55)

SOLUTION:

To find the product, we will use distributive law as follows:

y
250.5xy (xz + 55)

= 250.5xy x xz + 250.5xy x %
=250.5x"lyz +25.05xy !

=250.5x%yz + 25.05xy?
Thus, the answer is 250.5x%yz + 25.05xy?.

7 20 (3ww2 4 2
Q4. =Xy (3xy~ + £X)

SOLUTION:

To find the product, we will use distributive law as follows:
7,2 3 2 2
=Xy (%Xy + gX)
= T2y % By 4+ T2y x 2

SXY XY +5xy>< 5%
21 [ 2+1 142 14 ,2+1
+ 73X

T Xy y

= 2L 33 1.3
BXY XY
Thus, the answer is %X’yJ + %X3 y

Q15. 3a(a® + b>-3c?)

SOLUTION:

To find the product, we will use distributive law as follows:

(a® +b%>—3c?)

(SIS
[S)

2

axaz+§aXb2—%aX3c
al™? + §ab2—4ac2

a® + Zab’—4ac?

Wls wls wls

Thus, the answer is %33 + %abz— 4ac?.

Q 16. Find the product 24x> (1—2x) and evaluate its value for x = 3.

SOLUTION:

To find the product, we will use distributive law as follows:
24x% (1-2x)
= 24x? x 1-24x% x 2x

= 24x>—48x'"?
= 24x2—48x3

Substituting x = 3 in the result, we get



24x%—48x°

24(3)°-48(3)°
=24 % 9-48 x 27
=216-1296
=-1080

Thus, the product is 24x’—48x> and its value for x =3 is -1080.
Q 17. Find the product =3y (Xy +y?2) and find its value for x=4 and y = 5.

SOLUTION:

To find the product, we will use distributive law as follows:
=3y (xy +y?)
= =3y xxy +(-3y) x y?
— _3Xy 1+1_ 3y 1+2

= —3xy?-3y’
Substituting x =4 and y = 5 in the result, we get

—3xy?-3y’
=-3(4)(5°-3(5)
=-3(4)(25)-3(125)
=-300-375

=-675
Thus, the product is —3Xy’—3y>, and its value for x =4 and y = 5 is -675.

Q 18. Multiply —%Xzy3 by (2x —y) and verify the answer for x=1 and y =2.

SOLUTION:
To find the product, we will use distributive law as follows:
3
_7X2y3 * (2x-y)
_ 3 3 3
= (3X%y? X 20) = (—5xX°y7 xy)
(LA 213y (32,341
(3T )=(=3x7y7)
— 3,3 4 3.2,4
==3x7y’ + X%y
Substituting x = 1 and y = 2 in the result, we get
3,3 32,4
—3x7y7 + 3X%y
=3’ + (1))
=-3x1x8+3x1x16
—24+24

Thus, the product is —3X3y3 + %X2y4, its value forx =1 andy =2 is 0.

Q 19. Multiply the monomial by the binomial and find the value of each for x =-1, y = 0.25 and z = 0.05:
(i) 15y% (2-3x)

SOLUTION:

To find the product, we will use distributive law as follows:

15y2 (2-3x)
=15y? x 2—15y? x 3x

=30y2—45xy?



Substituting x = -1 and y = 0.25 in the result, we get:
30y2—45xy?
=30(0.25)°—45(=1)(0.25)
=30 > 0.0625—{45 x (1) x 0.0625}
= 1.875—(-2.8125)

=1.875+2.8125
=4.6875

(i) —3x (y2 + 22)

SOLUTION:

To find the product, we will use distributive law as follows:
-3x(y%+7%)
=—3x xy2 +(-3x) x 72
= —3xy?-3xz?

Substituting x =-1, y =0.25 and z = 0.05 in the result, we get:
—3xy?-3xz2
=3 (=1)(0.25=3 (-1)(0.05)*
=-3(-1)(0.0625)—3 (—1)(0.0025)
=0.1875+0.0075
=0.195

(iii) z* (x—y)

SOLUTION:

To find the product, we will use distributive law as follows:

2> (x=y)

=722 xx—72xy

= xz%—yz?

Substituting x =-1, y = 0.25 and z = 0.05 in the result, we get:
xz2—yz?
= (=1)(0.05)*=(0.25) (0.05)
= (—1)(0.0025)—(0.25) (0.0025)

=—0.0025-0.000625
=-0.003125

(iv) xz (x> +y?)

SOLUTION:
To find the product, we will use distributive law as follows:
Xz (x* +y?)
=Xz X X2 +xz X y?
=x’z+xy’z
Substituting x =-1, y = 0.25 and z = 0.05 in the result, we get:
Xz +xy’z
= (=1)’ (0.05) + (1) (0.25)* (0.05)
(=1)(0.05) + (=1)(0.0625) (0.05)

=-0.05-0.003125
—0.053125

Q 20. Simplify:



(i) 2x2 (x3—x)=3x (x* + 2x) -2 (x*—3x2)

SOLUTION:
To simplify, we will use distributive law as follows:
2x2 (x°—x) = 3x (x* +2x) -2 (x*-3x2)
= 2x°-2x% - 3x°— 6x%—2x* + 6x2
= 2x3-3x7-2x* - 2x3 - 6x2 + 6x2
= —x’-2x*-2x}

(i) Xy (x*=2x) + 2xy (x*—x*)

SOLUTION:

To simplify, we will use distributive law as follows:
X3y (x2-2x) + 2xy (x3—x*4)
= xy-2xty + 2xty—2x%y
= xXy—2x0y—2x%y + 2xty
= _X5y

(i) 32 +2(a+2)—3a(2a+ 1)

SOLUTION:

To simplify, we will use distributive law as follows:
3a’+2(a+2)-3aa+1)
=3a’ +2a+4-6a>—3a
=3a’-6a’-3a+4
=3a’-a+4

V)X (X +4)+3x(2x°—1)+4x> + 4

SOLUTION:

To simplify, we will use distributive law as follows:
X(x+4)+3x(2x*—1) +4x* +4
=x? +4x +6x°=3x +4x* +4
=x2 +4x% +4x=3x + 63 +4
=52 +x +6x° +4

(v)a(b—c)—b(c—a)—c(a—b)

SOLUTION:

To simplify, we will use distributive law as follows:
a(b—c)—b(c—a)—c(a—Db)
=ab—ac—bc+ba—ca+cb
=ab+ba—ac—ca—bc—cb

=0

(vi) a(b—c¢)+b(c—a)+c(a—b)

SOLUTION:



To simplify, we will use distributive law as follows:
a(b—c)+b(c—a)+c(a—b)
=ab—ac+bc—ba+ca—cb
=ab—-ba—ac+ca+bc—cb

=0

(vii) 4ab (a—b) —6a2 (b—b?)—3b? (2a2—a) + 2ab (b—a)

SOLUTION:

To simplify, we will use distributive law as follows:
4ab (a—b)—6a” (b—b*)—3b? (2a’—a) + 2ab (b—a)
= 4a’b—4ab’—6a’b + 6a’b’—6b’a” + 3b%a + 2ab>—2a’b
= 4a’b—6a’b—2a?b—4ab” + 3b%a + 2ab* + 6a’b’— 6b%a’
= —4a’b + ab?

wii) x2 (2 + 1)=x3 (x + 1) =x (x*—X)

SOLUTION:

To simplify, we will use distributive law as follows:

X2+ (x+1)=x(x*-x)

=xt+x2-xtx3xt X2
=xixt-xtax 2+
= x*x3+2x2

(ix)2a2 +3a(1-2a%)+a(a+1)

SOLUTION:

To simplify, we will use distributive law as follows:
2a> +3a(1-2a%)+a(a+1)
=2a%+3a-6a'+a’+a
=2a%> +a’ +3a+a-6a*

x)a*(2a—1)+3a+a’-8

SOLUTION:

To simplify, we will use distributive law as follows:
a’(2a-1)+3a+a’-8
=2a°-a’+3a+a’-8
=2a° +a’~a’ +3a-8
=3a°-a’+3a-8

(xi) %xz (1) + 12 (2 +x)— %X(X3— 1)

SOLUTION:

To simplify, we will use distributive law as follows:



Ax2x-1)+ %Xz (x2+x)- %X x3=1)

2

=34 32 L4 L3 3.4, 3
>X 2X+4X+4X 4x+4x
=i'4+l 4_ 3 44 1 3_3 2_;,_1
X TXI— 94X X 3X 2X

— 4 1.3 3.2 3
=X +7x—7X +IX
(xii) a%b (a—b?) + ab? (4ab—2a%)—a’b (1-2b)

SOLUTION:
To simplify, we will use distributive law as follows:
a’b (a—b?) + ab? (4ab—2a%)—a’b (1-2b)
= a’b—a?b’ +4a’b’-2a’b>—a’b + 2a’b?
= a’b—a’b—a’b’ +4a?b’—2a°b? + 2a°b?

= 3a2b3

(xiii) a’b (a’—a+ 1)—ab (a*~2a + 2a)—b (a’—a’— 1)

SOLUTION:
To simplify, we will use distributive law as follows:
a’b(a’—a+ 1)—ab(a*—2a’ +2a)—b(a’—a’—1)
= a’b—a’b+a’b—a’b +2a°b—2a’b—a’b+a’b +b
= a’b—a’b—a’b +2a3b—2a’b+a?b+b
=b



